Best model for HELP J143335.334+345954.645 at z = 1.471 x*>=0.48
OPTx?=0.55 IRx?=0.38 threshold (OPT IR)=19.77 [um]

10° E : Stellar attenuated
] T Stellar unattenuated
] th —— Dust emission
101 E —— AGN emission
3 = Model spectrum
] ® Model fluxes
100‘5 M oObserved fluxes
>
= -1
g 107" 5
é , E"}iﬂ‘f‘e’“-n".\~\grp,\;w L.
T 1077 5 i
1073 E
] hl[m
104 E
%S E
= i
1
g ] =f= (Obs-Mod)/Obs
.-9 /
n
O 0+ - AN R B N S g U
hat ]
o ] \
5 ]
o -1- - ciGaLe
()
[a'd

10° 10! 107 103 104 10° A
Observed wavelength [um]



